
Unit I Study Guide: CC2 Ch 8 & CC3 Ch 9.1

Box & V\ihisker Plot

1) The following are the weights of football players: 220, 225, 190, 193, 194,250,
235,240,200.

a) Make a box plot for this sel of data.

b) \Mat is the IQR of the data?

c) Vvhat percent of players weigh inside the IOR?

2) The following are the number of days poppies take to germinate: 5, 7, 14, 10, 6,

8,4,5,4,7,8,6

a) Make a box plot for this set of data.

b) What is the IOR of the data?

c) Vlhat percent of poppies take longer than the Q3 to sprout?
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Congruent & Similar Figures

Congruent, Similar, or Neither?

Review

Burts chickens lay 40% fewer eggs than Berry's chickens. lf Berry's chickens lay 50

eggs perweek, how many do Burt's lay?

Sam bought a jacket, wflich was % off lhe original price. lf Sam paid $18.75, Yvhat was

the original price?



Becky buys a pair of shoes rlat are 40% off the original price. lf she paid $1 5, what was

the original price?

irty chickens ate 40016 ot a 25lb bag of chicken feed last month. This month, they ate

70% ofthe remaining €fiicken feed. How much is lefi now?

Wtat is the slope ofa line that goes through (-3,2) and (6,4) ?

Vvtat is the slope ofa line that goes thtough (0,4) and (3,- 2) ?

Vvhat is the slope ofa line that goes through (5,4) and (6.2) ?

Vvhat is the slope ofa line that goes through (2,5) and (3,- 2) ?

Simpli!: fi6'.Jy-'z simpliry: /6e .dr5



simpliry: db1 . db-3

Simplifu: 1xay6z)l

Solve for the variable

x-2(3x- 4) = r+2- 6

++++3 =- |

Simpliry: 3 (2+ l)+ 3 (3) - 3'

Simplifo: (./yaz6)7

Simpliry: (rlz5)o

,-(a+2)-x+3-7

++++2-6

Simpliry: -2r+5*2(-2)


